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1. Complete the calculation 2 + ............. = 60

You must show your workings out.

2 10 60

60

2 +

T O

6 0

60

2

cbna 10 bond (8) SRS Learning Limited



teach-learn 10 bond (8) timelypractice.com

2. Complete the calculation 6 + ............. = 70

You must show your workings out.

6 10 70

70

6 +

T O

7 0

70

6
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3. Complete the calculation 9 + ............. = 100

You must show your workings out.

9 10 100

100

9 +

H T O

1 0 0

100

9
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4. Complete the calculation 7 + ............. = 30

You must show your workings out.

7 10 30

30

7 +

T O

3 0

30

7

cbna 10 bond (8) SRS Learning Limited



teach-learn 10 bond (8) timelypractice.com

Answers

1. 58

2. 64

3. 91

4. 23
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